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M.Com. (Final) Examination, 2022

ACCOUNTANCY AND BUSINESS STATISTICS

Paper - VI

(Operations Research)

Time : 3 Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

Note —

M —

2 marks.

(@us—3) (3% : 2 x 10 = 20)
Tt T/ e & S ST (SW-EE 50 I=S) | Wi WY 2 3 T §|
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(Tus-9) (37 : 8 x 5 = 40)
I # 9 R Ui T & SW SIS (SW-EE 200 9E) | TAE Y9 8 Ik
H T

Section—C (Marks : 20 x 2 = 40)
Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.

(@us—a) (37 : 20 x 2 = 40)
;Rﬁﬁﬁ?ﬁﬂ’fﬁ@ﬁiaﬁq (IR-H 500 T3 | Tk T 20 % H

|
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Section-A
(Tue-3)
1. (@ What do you understand by Quantitative Techniques ?

fmmneres gfaferi | ema F wwed © 2

(i1))  Explain fwo characteristics of Linear Programming.
e drmA wT ar fasiett @ el wifs |

(ii1) Explain difference between Transportation and Assignment Method.
TREed T S wEesl § SRR S|

(iv) Define Law of Dominance.
Fuferan fogT= =l ¥9=E

(v)  Write any two formula related to Single Queue Single Service Point.
T HIR TH F1 &= o graf-ad & & g1 fafew|

(vi) Point out the difference between PERT and C.P.M.
T Ud LHTH. H SR SdEt |

(vii) Write importance of Input-Output Analysis.
HART-Ta1 foeetsor st swEf fafen

(viii) What is Standard Time ?
T W T 2

(ix)  Give kinds of Value.
uH & YRR fafen

(x)  What is meant by Productivity ?

IcAEHal w1 w1 7S T ?
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Section-B

(Tus-=)
2. What are the types of models used in Operations Research ?
qferan fomm & wgea fafv= gfosdl =61 aasu)
3.  What are advantages of Linear Programming ?
Yaw wEwa gfafy & @il @1 aaE|
4.  Five Lathes are to be alloted to five operators (one for each). The following table
gives weekly output figures (in pieces). Profit per piece is ¥ 25. Find the
maximum profit per week :
" A9 HINA G SAIEl (T i Th) i STEied w §) 9 aifaes § |rarfes
ST & 1 § 1 I TR W T 25 T T Il § | WIAIfEh SR A T i
Weekly output of Lathes
Operator
L, L, L, L, L,
P 20 22 27 32 36
Q 19 23 29 34 40
R 23 28 35 39 34
S 21 24 31 37 42
T 24 28 31 36 41
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5.  Solve the following matrix game :

= T aiferen 9 TEfoa O TS R A A RN

B
I oI
2 4
4 2
2 4
4 0

6. The matrix of technical coefficient of input in coal and iron industries is as

follows :

FIA T TEAA IR H TTYS hAIH ORI HI AgR! IR ¥

Coal Iron
Coal 0.2 0.2
Iron 0.6 0.2

If the end demand of coal is ¥ 240 crores and that of iron is ¥ 80 crores, calculate

the figures of production.

g He Ft AfaH AT T 240 FAS A T HI T 80 FAS B, A UG HI ABAT

I HIST

7.  Write basic objectives of PERT and CPM analysis.

o T T e § qe Sivd ffen
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8.  Trains arrive at a railway marshalling yard at an average rate of 30 trains per 24
hours a day. The marshalling time for any train is 36 minutes. If the distribution

of arrival is Poisson and that of service time is exponential, then find :

T Yo & fo=mm o | wfafeq i &9 9 30 mfeat ot €1 w e @ o
HE H Ed ®Y 9 36 fH7e g §1 Ife a7 S WEE sied 8 A Hel 96y
T ST TEERT Sieq @, O 19 1 JF [ hieT

(1) Expected no. of train in system
e § mied wt T e
(ii))  Expected length of waiting line
TleT AR P e TS
(ii1) Expected time in system
el | Ml g’ S R T | T

(iv) Expected waiting time per train before marshalling

fo=nfaa 89 9 99 ©& MEt §) ydten § foarn wn w9
(v)  Probability of having more than 3 trains in system

e H Medl ® WA 3 9§ SAE B HI s
(vi) Probability that queue size exceeds 10

FAR I Mg 10 A 89 P wiiHeRd

(vii) Probability that there is at least one train in queue

FIR H HH-T-FF TH 7 T I Wiaehar
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Section-C

(@us-—M)

Explain the concept, scope and tools of Operations Research.

T faM 1 TR0, Y9G T deh-tehl i AT HIfSTT |

10. Solve the following linear programming problem by simplex method :

fr=1 Yo s e @ famers fafy 9 sa wifee .

Max. Z :

Subject to :

20x1
3x1 + 3x2

S5x, + 2962

1

2x, + 6x2

1

xl, XZ

11. Define Work Study. What is the role

System ?

+ 30x,
< 36
< 50
< 60
>0

of work study in Modern Industrial

FR SLFIT T R ST gdaE St fafy | w5 srerE w1 = "e © 2

12. In a district there are three wheat godowns W,, W,, W,. From these three

godowns wheat has to be supplied to three cities A, B, C of the district. The

information regarding the quantity of wheat available at three godowns and

quantity of wheat required of various cities and corresponding transportation

cost are given in the following table :

Godowns/Cities Transportation Cost Available Quantity/Supply
A B C
W, 5 10 2 100
W, 3 7 5 25
W, 6 8 4 75
Demand 105 30 920 2257200
Solve the problem for Least Cost.
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T 5 # 7 & dF Tem W, Wy, W, §1 e TR | S & fF el A, B, C
H TE H YR HT S T GEH W ST T w A, At Il i stevasd 9
faf= et & fafv= ol &t gfa feea afesd @ enfs @ wwfea geamd =
aiferet # 3 o @R T :

TMETH/ITER uReeT ArTa JUCTSRT AT/ 3Yfd
A B C
W, S 10 2 100
W, 3 7 5 25
W, 6 8 4 75
T 105 30 90 2257200

el IAqH TREsd AT % foly SAsherad B J6 i |
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